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1.1 Fardy e g B

A. 1.2 5
B. 3.2 S[e
C. 4.2 5«

D. 25 5[

Ans. C

Calorie is a unit of energy. The unit of
energy in the International System of
Units is the joule. One small calorie is
approximately 4.2 joules

So

1 cal. = 4.2 joule

2 cal. = 8.4 joule

2,39 # FSAT & TATATARYT FI Hgl STl g
A. TTeleT
B. HagT
C. faferzor

D. 3RIFd H & FIS 7GT

Ans. A

In conduction the molecule of solid pass
heat form one to another, without
themselves moving from their position
Conduction is the transfer of heat energy
by direct contact, convection is the
movement of heat by actual motion of
matter; radiation is the transfer of
energy with the help of electromagnetic
waves

3.98 i foasd ganr a1 e 3R &3
AT & o & TAT F T U T FeAr
A TUAIRT fhdT 1T gl

A. TTereT

B. fafeor

C. 3geNyoT

D. 318 ¥ HIg g

Ans. B

Radiation is a method of heat transfer
that does not rely upon any contact
between the heat source and the heated
object as is the case with conduction and
convection. Heat can be transmitted
through empty space by thermal
radiation often called infrared radiation.
This is a type electromagnetic radiation
A good example would be heating a tin
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can of water using a Bunsen burner.
Initially the flame produces radiation
which heats the tin can. The tin can then
transfers heat to the water through
conduction. The hot water then rises to
the top, in the convection process

4960 & T AT Arelehdr AT 4T ¢l

A. 0.58

B. 0.8

C.0.1

D. 4.2

Ans. A

A measure of the ability of a material to
transfer heat. Given two surfaces on
either side of the material with a
temperature difference between them,
the thermal conductivity is the heat
energy transferred per unit time and per
unit surface area, divided by the
temperature difference

The thermal conductivity of water is 0.58

5.¥¢oA0 Td & U AHAAR IR die Hr
ol & HIY AT &1 SHH HRT g-

A. 37 318 Tfte s & &

B. el TeoTold Thel &1 Jolell H FSAT &I
SER T §

C. arer 3if8s &1 giar &

D. 3Wiad H & &g oAar

Ans. B

Stainless steel pans lined with a copper
core can deliver improved heat
conductivity since copper has a
reputation for providing greater control
over temperature changes

This means that if you heat one end of a
piece of copper, the other end will
quickly reach the same temperature.
Most metals are pretty good conductors;
however, apart from silver, copper is the
best.

6.2268 ST T Heldl H dgol?

A. 270

B. 1080

C. 540

D. 1620

Ans. C

1 calorie = 4.2 joule

Let’s say X calorie = 2268 joules
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So for finding X we have to divide 2268
joules by 4.2 because 1 joule =1/4.2
cal.

=2268/4.2

=540 cal.

7.F47 g § S 2000 FeARr FSAT @ 200
IMA IleAl H TIAIRA fhadT 1T &l

A. daATT H 10 Bl gefar

B. d9#Te # 100 f3aft gefer

C. dgaART & 10 3 & Felr

D. 3Wiad H & &I AT

Ans. A

Mass of water ‘M’ = 200gm or 0.2kg
Heat supplied = 2000 cal. In joules
(2000)(4.2)joules

=8400 joules

Specific heat of water is 4200j/kg0C
Heat supplied Q= (M)(S)(T)

8400 = (0.2)(4200)(T)

T= 100C

Therefore the rise in temperature is 10
degree C

8.1.5fF.am gl fr ey erRar Faer gl

A. 6300]/ 0C

B. 126001 / OC

C. 31501/ oC

D. 3Wiad # & &g oAl

Ans. A

Specific heat of water 42001/kg0C
Thermal capacity of 1.5kg of water =
(1.5kg)(42001/KG0OC)

=6300J/0C

9.3 g5 A  ©lled T ©1H & & T
250000 ST T HE A g, IS AlTaT
ganr faar aram &7 200000 S & dr
SAlAHaR S &THAT T §7?

A. 100%

B. 95%

C. 80%

D. 50%

Ans. C

Efficiency= (work output /work
input)*(100)

Work input =250000

Work output=200000

= (200000/250000)*(100)

= 80%
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10.74%1 & ¥ &1 &1 gfacdy 4o &
Scdleleh &l 3ETE0T ¢

A. ST

B. I#ver

C. Wiar

D. &= &1 F=r

Ans. C

Lever in which load is sitting between
fulcrum and effort is known as second
class lever

Eg. Nut cracker

Wheel barrow

Bottle opener

11.31T9% HHA & Gid fohd dg Hr Tl
adeT & T gl

A. AT TATA

B. &rer

C. gfgam 3R e

D. O

Ans. B

A wedge is a triangular shaped tool, and
is a portable inclined plane, and one of
the six classical simple machines. It can
be used to separate two objects or
portions of an object, lift up an object,
or hold an object in place.

Your front teeth are incisors shaped like
a wedge. Just like a wedge, incisors are
thick at one end and thinner at the other

12.599 U 3cdicleh &l 391497 ik 50
g & I ¥ 450 7ol H AR 3610
ST § ar U T ALM &1 FifFe ooy Far
g7

DOw»
= ul PO

Ans. A
Mechanical advantage of a lever is
M.A of a lever = load/effort = 450/50 =9

13. 30 T3 aofeT T Teh oI5hT, Th el &
3T & 80 H.AT &I gl W Joam §1 3H
GEY 5% F AR H AT H ST AT
16 &.#1 &1 gl X SoT §?
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A. 100 f&.arm
B. 150 far.am
C. 200 f.am

D. 318 ¥ HIg =Tgf

Ans. B

In fulcrum

Load* Load arm=effort* Effort arm
Let effort be X

= (30)*(80)=(X)*(16)

=16X=2400

X=2400/16

=150kg

14.T%h Scdlesh &I HR-$M 4 HeX 3R
AT ST 8 #HIeT g1 38 FitAeh olreT
I[OTAT HL?

A. 0.5

B.1

C. 1.5

D. 2

Ans. D

Mechanical advantage of lever is
M.A= effort arm/load arm

=8m/4m

=2

15.6 HIex &€ TH YUH gI1 F 3cdielh 30
e & o & WY 60 7oA I HRX 33T
GhdT &1 SHHT oA AT PL?

A. 25 #HieX

B. 425#TeT

C. 128

D. 1HT

Ans. D

Load = 60N

Effort= 30N

Let X be the distance of fulcrum from
the load

Effort arm= (3-X)

As we know that

(Load)(load arm) = (effort)(effort arm)
(60N)(X) = (30N)(3-X)

60X=90N-30X

90X=90N; X=1m

16.Ts Ushel ol fORGT 7 3uler 800 &gt
AR 33 & fav fFar srar €1 3mags

I AT F:?
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A. 1600N

B. 400N

C. 200N

D. 50N

Ans. B

As we know the mechanical advantage
of single moved pulley is 2 so

M.A of pulley= load/effort

Load is 800N

Let effort be X

2 = 800N/X

X= 400N

17.3000 ¢l Tofel aTell chel I Ueh sehdl

THG A el AT S &, Sfel 59 2
I CART 3eTclls fohdm STam &, S U foelr
& T 9T 200 7T F qo @ FFAT 33T

g1 P &1 aredfas TiEE o FIAT 82
A. 15N

B. 20N

C. 3N

D. 1.5N

Ans. A

Mechanical advantage of a pulley = force
output/force input

Force output is 3000N

Force input is 200 N

M.A = 3000/200 =15N

18.12 HeX &9 3K 4 Aex 32 s T &7
iy amer g

Mechanical advantage of a ramp= length
of a ramp/ height of the ramp

=12m/4m =3m

19.3gel ¥ 1450 gof & § & Y 4
e &1 gr ¥ v IR A1 38 & fow
379eA fORer &1 3uer AT, gl 1 A1
o1 10 &1 HA HT fovctel ool &1 U7

FEAT TTRT-
A. 145N
B. 725N
C. 500N

D. 3WFd & & IS g
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Ans. A

Mechanical advantage= force
output/force input

Force input is not given so let it be X
M.A=1450/X

10=1450/X; 10X= 1450

X= 145N

20.g213 & TERACT § Fhsl & Ths ¥ T
drer Ao & fT T et 710 ST R
T §1 gle #1 F 3eue 355 5 €,

GaTdT AT HL?

A. 150%

B. 200%

C. 50%

D. 100%

Ans. C

Efficiency of hammer = (work
output/work input)(100)
=(355/710)(100)

=50%

21.7sh Hallelel Hhergee @l fhd GhR &
Jcdtelsh & &9 & aftha fhar amm B
A. 9UH FI1 & 3cdiclh

B. gfad adf & 3cdters

C. g a9 & Scdiers

D. &1H ¥ HIg =Tgf

Ans. C

A mangonel catapult works just like a
third-class lever. The base of the
catapult acts as the fulcrum which the
catapult arm pivots on. In this case, the
force is provided by tension in string.
The load acts as the projectile in the
bucket

A weapon used during the Middle Ages
(Medieval period ) in siege warfare. The
Mangonel similar to a catapult which
worked by using torsion or counterpoise.
Mangonels fired heavy projectiles from a
bowl-shaped bucket at the end of its
arm

22.13 Fif3eh ofeT arell Ueh 39 a&gait & 11
#Hrex 1 FA$ dF 3T ThaT gl YT Faer
o 8?2

A. 13/ 115X

B. 143#1cX
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C. 1.2 #lx

D. 100 #IiX

Ans. B

Mechanical advantage of a ramp= length
of the ramp/height of the ramp

M.A=13

Height=11

Length= X

13=X/11

X=143 m

23.91deT T GeFehed Wiclel dTell I 3EIEI0T

gl

A. TF

B. 3cdlele
C. faeir

D. &

Ans. B

In a second class lever, the fulcrum is on
one end of the lever, the effort is on the
other end, and the load is between the
fulcrum and the effort. Examples of
second class levers are bottle openers,
nut crackers, the cutting arm on a paper
cutter, and a wheelbarrow.

24 eNHHASS gl

A. EaT &l 87T

B. ATATEROT & 7T T S8l 6H WEd o
C. argHse &I dFd R”d

D. 3IAHST & FUT T T 9d

Ans. B

Earth's atmosphere can be divided
(called atmospheric stratification) into
five main layers. Excluding the
exosphere, the atmosphere has four
primary layers, which are the
troposphere, stratosphere, mesosphere,
and thermosphere. From highest to
lowest, the five main layers are:
Exosphere: 700 to 10,000 km (440 to
6,200 miles)

Thermosphere: 80 to 700 km (50 to 440
miles)

Mesosphere: 50 to 80 km (31 to 50
miles)

Stratosphere: 12 to 50 km (7 to 31
miles)

Troposphere: 0 to 12 km (0 to 7 miles)
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The troposphere is the lowest major
atmospheric layer, extending from the
Earth's surface up to the bottom of the
stratosphere. The troposphere is where
all of Earth's weather occurs. It contains
approximately 80% of the total mass of
the atmosphere.

25.F1 & U AdIonT AT gl
A. dgrer

B. WA St

C. f1.ua.3h

D. s

Ans. D

Trees are a renewable resource. They
provide fruit, nuts, rubber and maple
syrup without destruction of the tree.
And if a tree is cut down for wood, pulp
or green charcoal, it can be replanted,
While trees are a renewable resource,
forests are not.

A non-renewable resource is a resource
that does not renew itself at a sufficient
rate for sustainable economic extraction
in meaningful human time-frames. An
example is carbon-based, organically-
derived fuel.

26.agHSAT G AN STl

A. BISIHIEY
B. 38X
C. BleHY

D. ®1$ a1

Ans. A

Hygrometer, instrument used in
meteorological science to measure the
humidity, or amount of water vapour in
the air. Several major types of
hygrometers are used to measure
humidity.

It uses a pair of thermometers standing
side by side. One has a bulb open to the
air; the other has a bulb covered in a
wet cloth. ... You measure the humidity
by comparing the readings from the two
thermometers.

27 91T HAYOT & AT 37TeTH §-
A. FARTBIH

P
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C. FARIFART HleeT
D. 51 & HIg el

Ans. B

Photosynthesis is the process used by
plants, algae and certain bacteria to
harness energy from sunlight and turn it
into chemical energy

The role of chlorophyll in photosynthesis
is vital. Chlorophyll, which resides in the
chloroplasts of plants, is the green
pigment that is necessary in order for
plants to convert carbon dioxide and
water, using sunlight, into oxygen and
glucose

28. ATEYAHIT AT 82

A. Tt & I[EAT # SEole

B. a1 & Al &l IFEaT H dgere
C. BT F I[FEAH H Seala

D. 3WRIeFd @t

Ans. D

Desertification occurs due to a decrease
in vegetation. This can happen naturally
due to a drought or can be caused by
human activities. The lack of plants can
cause changes to the land. Plants help
shade the soil, so when plants are
removed, the soil will be exposed to the
sun and will dry out more quickly.

29.49197el 3T FAST F foT FiT A1 WA
e §-

A. Afder 3msaEr IgeT

B. Sl gFAT FARISS

C. o5 Aeel ZTefet

D. 54 & HIg Tgr

Ans. A

Bhopal gas tragedy it happened at a
Union Carbide subsidiary pesticide plant
in the city of Bhopal, India. On the night
of 2-3 December 1984, the plant
released approximately 40 tonnes of
toxic methyl isocyanate (MIC) gas,
exposing more than 500,000 people to
toxic gases

Methyl isocyanate is an intermediate
chemical in the production of carbamate
pesticides (such as carbaryl, carbofuran,
methomyl, and aldicarb). It has also

B. FalRIfther
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been used in the production of rubbers
and adhesives. As a highly toxic and
irritating material, it is extremely
hazardous to human health.

30.5ide TSE 3 foUd &l
A. 3ccRI@s

B. ITEATT

C. 3l

D. AL 9T

Ans. A

Corbett National Park is a forested
wildlife sanctuary in northern India’s
Uttarakhand State. Rich in flora and
fauna, it's known for its Bengal tigers.
Animals, including tigers, leopards and
wild elephants, roam the Dhikala zone.
On the banks of the Ramganga
Reservoir, the Sonanadi zone is home to
elephants and leopards, along with
hundreds of species of birds.

31.t% &R 60 f&.#Hger $r afa & 3 g,
R 125 fr.dger & aifd & 5 8¢ 3R Aw
T 90 fr.Aeer & aifa & 2 g¢ & FHr
g1 I & GRIeT 3t 3tad aifa T oA
A. 112f% F/aer

B. 125fF.#i/eer

C. 98.5f%.#Hi/aer

D. 38 A HIg oTal

Ans. C

To calculate avg speed = total
distance/total time

= 60*3+125*%5+90*2/3+2+5
=985/10

=98.5km/hr

32.UNIVAC & qUT &9 & g

A. Universal automatic computer

B. Unique automatic computer

C. Universal array computer

D. 318 ¥ HIg =Tgf

Ans. A

Short for Universal Automatic Computer,
The UNIVAC is an electrical computer
containing thousands of vacuum tubes
that utilizes punch cards and switches
for inputting data and punch cards for
outputting and storing data.
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33.ALUST 0T &9 &7 Bl

A. Arithmetic logic unit
B. Array logic unit
C. Algorithmic logic unit

D. 38 & &g gl

Ans. A

An arithmetic logic unit (ALU) is a digital
circuit used to perform arithmetic and
logic operations. It represents the
fundamental building block of the central
processing unit (CPU) of a computer.
Modern CPUs contain very powerful and
complex ALUs.

34.3.5 39 Faldr 3 $r &TF7aT 47 g
A. 1.44 S &
B. 1.40 TH.§Y
C. 1.44 Ta &Y

D. 1.40 Sir.dr

Ans. C

In the late 80's, the 5.25-inch floppy
disk was on its way out and in 1987 the
3.5-inch floppy disk had moved into the
high density category with a capacity of
1.44 MB.

35.74%T & & HleT A1 Ao wATHT gAe @
T 872

A. Biex

B. AT3H

C. a¥dfes 3R s Ifee

D. faS

Ans. C

The central processing unit (CPU) of a
computer is a piece of hardware that
carries out the instructions of a
computer program. It performs the basic
arithmetical, logical, and input/output
operations of a computer system

The two typical components of a CPU
include the following:

The arithmetic logic unit (ALU), which
performs arithmetic and logical
operations.

The control unit (CU), which extracts
instructions from memory and decodes
and executes them, calling on the ALU
when necessary.
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36.57% SH P gl ST &
A o

B. T(®

C. TR Bhee

D. 31 & HIg ALt

Ans. A

Email spam, also known as junk email, is
unsolicited messages sent in bulk by
email. Most email spam messages are
commercial in nature. Whether
commercial or not, many contain
disguised links that appear to be for
familiar websites but in fact lead to
phishing web sites or sites that are
hosting malware

37.39918¢ & UgS Ul ! FHgl AT gl

A. 817 9

B. Smar feshee

C. 399 Ul

D. gt

Ans. A

A home page is generally the main page
a visitor navigating to a website from a
web search engine will see, and it may

also serve as a landing page to attract
visitors.

38.3cqe1C dalarle & v dia O Basw
3TIITSF gl

A. X

B. FEIS

C. AlsH

D. T3S 8T &1s

Ans. C

A modem is a device or program that
enables a computer to transmit data
over, for example, telephone or cable
lines. Computer information is stored
digitally, whereas information
transmitted over telephone lines is
transmitted in the form of analog waves.
A modem converts between these two
forms.

39.f%T & @ HiT @1 q¥H 9 T HeYeX
g?
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A. EDVAC

B. IBM1401

C. CDC 1604

D. ICL2900

Ans. A

The first computer systems used vacuum
tubes for circuitry and magnetic drums
for memory, and were often enormous,
taking up entire rooms.

the first generation computers include
ENIAC, EDVAC, UNIVAC, IBM-701, and
IBM-650. These computers were large
and very unreliable. They would heat up
and frequently shut down and could only
be used for very basic computations.

40.DOS &1 379 gl

A. Digital open system

B. Disk operating system

C. Digital opening system

D. Disk operating session

Ans. B

The term DOS can refer to any operating
system, but it is most often used as a
shorthand for MS-DOS (Microsoft disk
operating system). Originally developed
by Microsoft for IBM, MS-DOS was the
standard operating system for IBM-
compatible personal computers

The term DOS can refer to any operating
system, but it is most often used as a
shorthand for MS-DOS (Microsoft disk
operating system). Originally developed
by Microsoft for IBM, MS-DOS was the
standard operating system for IBM-
compatible personal computers

41.1%F AT AT YK & AGASH & T A
ST ST §7?

A. dcar ST e

B. Aleilex

C. 3¥dfes 3R oedsr Ffoe

D. &gl HAeX

Ans. A

The computer brain is a microprocessor
called the central processing unit(CPU).
The CPU is a chip containing millions of
tiny transistors. It's the CPU's job to
perform the calculations necessary to

make the computer work -- the
transistors in the CPU manipulate the

ATTEMPT MOW
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data. You can think of a CPU as the
decision maker

42.U% gIsT Imar & Hedike 71 ¥ Hede
81 d& I & g fAdc o91d §1 Ta arer
FI HrediEe 65 ¥ FAediee 80 o Sl
I Aee oera 81 fohe &R Fr iaa aifa
31T g

A. et

B. gisT

C. gaA T 3aa a1fa

D. 578 & HIg ofer

Ans. C

Average speed = total distance/total
time

For car A

Total distance travel=10 mile

Total time taken to cover the distance is
10 min

Avg. speed= 10/10

=1mile/minute

For car B

Average speed= total distance/total
time

Total distance travel=15 miles

Total time taken= 15 min

Avg. speed =15/15

=1mile/minute

43.5 AeY/AFHs &1 Ifd T YRH H 3 e
H YT R dTell Teh R H 3cadl T 3R 2
Hey/AHs? o1 [ATd 0T FR FAT &1 Tgo
10 ¥hs # #N fohclell T deh STal &7

A. 20 Hiex

B. 50 HIeX

C. 100 #Hex

D. 150 #HieX

Ans. D

Equation of motion
S=ut+1/2at2

S= distance

U = initial velocity

A = acceleration

T= time

Putting the value
S=5*10+1/2(2)(10)2
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=50+100
=150m

44,319 T g T 3EATER thehel T haell
N & difeh 45 HieX 3R Bya & A7 39
Uhs "l 3T 3G H R Fgead gardor
afa & %eh TR §?

A. 30HIE/Ahs

B. 45 #Hiex/ashs

C. 15#ey/A%hs

D. 90 Hey/A+s

Ans. A

From the equation of motion
V2=u2+2as

A=G=9.8 or 10 acting downword so
acceleration is negative
V2=0-2(10)(45)

=900

V2=900

V=30

45.U% 3C S84 5 He/Ashs T afd & ary
T T3 UETSI W AGAT YR Fl g1 I
Ig HAGR ¢ sAfAT Ig R W ggd THT
0.2 #r./&%s # X & i g S 81 I8
15 ¥ & dI¢ Ugrar & e W qga ST
gl 3¢ aT5® YIS W fFael §¥ & Sl §7?
A. 97.58 X

B. 75#TeX

C. 52.58IX

D. 15T

Ans. C

From equation of motion
S=ut-1/2at2 (here a=-a because its
acting as a deacceleration)
=5*15-1/2(0.2)(5)2

=75-22.5

=52.5

46.120 HX o€ Th ¢ S, 72 m.aAger &
39T & AT Teld! g, Sfafh 130 HeT o6l ¢
T, 108 fr.#/ger & a9 & ary faudia feem
H T W ¢l T T EaRT ¢ S &I R el
# o r T 9T AT -

A. 10

B. 25
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C. 50

D.5

Ans. D

Velocity of S - train =72kmh = 20 m/s
Velocity of T - train =108kmh =30 m/s
Relative vel. of T w.r.t. s

= 30+20 =50 m/s

Distance = train 1+ train 2 = 250 m
Time= distance/time

= 250/50

= 5 sec

47.9& gfFd D AEg arelr T #A¢r & W
I H v AT A RaT g 7T F 9dE v/2
g1 98 7 F FgFAH g H R A F fAw
T & AUl For Q & Rar & 7 R

FA H I AT THAT AT -

A. D/V

B. D/V cosQ

C. D/V sinQ

D. &1H ¥ HIg =Tgf

Ans. C

Vm= vel. of man = v

Vr = vel of river =V/2

V/2=V sinQ ; sinQ=1/2

Q=300

Time t=d/v

=d/vsinQ

=2D/v

48391 YURT vaTg $r feem & ary 120 &
FIoT W 0.5 Hey/Adhs $r a1fad & TT R
%@ & 3R aR & B W Rieger ek
fig a ugaer & FIRIT I T 1 ORI A
It g1°

A. 11#e/a%s

B. 2.5 Hey/a®s

C. 0.25#c/a%s

D. 0.400#Hcy/A%s

Ans. C
v = velocity of stream.
Resultant of u and v must be R

u=0.5m/s
R = resultant velocity
v = u sin 300

=0.5*1/2=0.25m/s

e
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49.t% A9 Acdn gafaa AT F A &t
IR @dl g1 R St & a9 & aifa 13
He/AHhs &1 71T F IR IS TAT A1F Hr
3iaa afa 12 He/Ahs gl g1 sier & aer
AT A

A. 5 #Ie/AHs

B. 15 #Hrex/A%s

C. 3 Hicx/ass

D. 2 #Hex/@+s

Ans. A

Vb = velocity of boat = 13 m/s
Vr = average speed = 12 m/s
Vr= velocity of river

f _
_ (13)(13) — (12)(12) =oMis
V of river is 5m/s
50.0% u3r T e arell g8 4 E.A o B
gates & dra fAse arel g$ & 3ied der
A -6 ST § YaTeet 6:30 o
A. 4.4%10-3 Hey/AsHs
B. 4.4*10-3 /4SS
C. 2.4*10-3 TrH/Ahs
D. $AH ¥ &I el
Ans. B
At 6 am the tip of the minute hand is at
12mark and at 6:30am at it is 1800
awaythus the straight line distance
between initial and final positions of the
tip is equal to the diameter of the clock
So r=4cm
D=8cm
Time= 30min=1800 sec
Avg speed = distance travelled /time
=8/1800 =4.4*10-3
51.T 3G & Heled & Q = 45 & HUT |
12 HIEY/AHs &1 AT F thehl ST § af 98
fohtell gl W eoT: STl & eehqruali? = 10
He/@FHs2°G
A. 16.8HIX
B. 14.4#cX
C. 24AX

D. 5#eX
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Ans. B

The horizontal range =u2 sin2Q/g

= (12*12*sin(2*450))/g

= (144m2/S2)/10

=14.4 m

Thus the ball hit the ground at 14.4m
from the point of projection.

52.U e gag H W & ek 35 Hiex
& IY-JedPN 9Y RN ToIdm ¢ IfE 98 9T &
Teh B U Tolell YR Il g iR qaEy R
T 10 §hs A GgId & A A AT AT
|

A. 25 Hiey/dhs

B. 10 #c/AHs

C. 5 Ac/AHs

D. 38 A HIg oTal

Ans. B

Distance=nr

= (22/7)*35

= 110m

Avg speed= distance/time

=110/10

=10m/s

53.T% JadRIET deerd & 63 Hex 3o iy
W TedT &l IE IadRIEr &1 R 85 fh.amw
g, ar TdarEr i Rufas et Far 2

A. 5240 S[el

B. 52479 S

C. 5249 S

D. 5247 S

Ans. B

Potential energy=M*G*H

M = mass

G= gravity

H= height

=85*9.8m/s2*63

=52479joules

54.2#F1cI/Ahs I Ifd & Telel arel 55

freltamdT & cafad &1 afasT Folr Far §?

A. 110 S[ef
B. 220 5[
C. 450 el

e
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D. 378 ¥ HIg =igl

Ans. A

Kinetic energy= 1/2mv?2

M is mass

V is velocity

= (1/2)*55kg*2*2

= 110joule

55.T 9fcRIUe &l 9fd Ahs &I e drell
Far Y el AET fohaer AT 8?
A. dlec

B. afed

C. 91

D. gfarrer

Ans. B

The power rule (P =1 x V), we need to
know both the current through the
resistor, and the voltage across the
resistor. First, we use Ohm's law (V =1
x R), to find the current through the
resistor.

56.fd a¥q W faega mawr #r gef
. gl

A. Tfde faegd

B. Selfaegeh SalfFefadr

C. I ZolfFefads

D. 318 & HIg =gl

Ans. A

Static electricity is an imbalance of
electric charges within or on the surface
of a material. The charge remains until it
is able to move away by means of an
electric current

The build up of electrical charges on an
object is called static electricity. ... This

type of electricity is caused by the
transfer of electrons between objects.

57.74egd UrRT A H AT S &
A. TFIRIT

B. 31

C. afcaaq

D. [

Ans. A

The SI unit for measuring an electric
current is the ampere, which is the flow
of electric charge across a surface at the
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rate of one coulomb per second. Electric
current is measured using a device
called an ammeter.

58.fA 1 & @ i @1 fIve urT 7 AT B
A. S

B. 3 du&

C. Todlgel

D. 31 & HIg ALl

Ans. A

A battery converts chemical energy into
electrical energy by a chemical reaction.
Usually the chemicals are kept inside the
battery. It is used in a circuit to power
other components. A battery produces
direct current (DC) electricity (electricity
that flows in one direction, and does not
switch back and forth).

59.319 U §cd §¢ & il g df 3« Sieid
gl

A. Fofr gy

B. §AEIR IR9T

C. 9 9R9y

D. gelr a9

Ans. B

The parallel circuit is the standard
electrical circuit found in most homes
and devices. Because it provides more
than one way for a current to flow
through to a device, it creates a much
more stable and efficient power system
than would otherwise be possible. The
uses of the parallel circuit are manifold
A parallel circuit has two or more paths
for current to flow through. Voltage is
the same across each component of the
parallel circuit. The sum of the currents
through each path is equal to the total
current that flows from the source.

60.3aFcl forg o & yared & &
A. geTcH® & HUNcHS dh

B. MUNcA® & YellcHAd doh

C. YellcH® | UalcHF dh

D. g8 & HIg Tgr

Ans. B

g
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Electrons are negatively charged, and so
are attracted to the positive end of a
battery and repelled by the negative
end. So when the battery is hooked up
to something that lets the electrons flow
through it, they flow from negative to
positive

61.coTf¥es faegd # vk gl

A. W

B. FSANRIE

C. W

D. 377 & &I g1

Ans. B

A material or an object that does not
easily allow heat, electricity, light, or
sound to pass through it. Air, cloth and
rubber are good electrical insulators;
feathers and wool make good thermal
insulators.

Some common insulator materials are
glass, plastic, rubber, air, and wooD.
Insulators are used to protect us from
the dangerous effects of electricity
flowing through conductors. Sometimes
the voltage in an electrical circuit can be
quite high and dangerous.

62.3017 &1 IH Fgar & &

Fafaa dtecs afeRiyr & seX giar gl
A. aRT

B. ufeRieres

C. fasar (Cannibal)

D. 347 ¥ &g oAar

Ans. A

The potential difference (voltage) across
an ideal conductor is proportional to the
current through it. The constant of
proportionality is called the "resistance",
R. Ohm's Law is given by: V = I R where
V is the potential difference between two
points which include a resistance R.

63.9faiTe & ¥7 & FH IR FT 39AET
AT ST TehaT 8-

A. STSHIA dR

B. iffgs dr

C. Fea HIes dx

CanrT
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D. 397 & &I oAer

Ans. A

A resistor is a passive two-terminal
electrical component that implements
electrical resistance as a circuit element.
In electronic circuits, resistors are used
to reduce current flow, adjust signal
levels, to divide voltages, bias active
elements, and terminate transmission
lines, among other uses.

Resistors can be constructed out of a
variety of materials. Most common,
modern resistors are made out of either
a carbon, metal, or metal-oxide film. In
these resistors, a thin film of conductive
(though still resistive) material is
wrapped in a helix around and covered
by an insulating material.

64.fdegd AR Holl & Fit ST T TUT
¥ qEY U o STl 8-

A. TEIHS oIl

B. degd Foir

C. Tifasd Far

D. AT Far

Ans. B

Electrical energy can be used to move
charged particles through a wire from a
power plant to our homes and
businesses.

The movement of a charged particle
through a wire is called current, or more
commonly, electricity. Electricity is used
to work various appliances in our homes

65.9XATY] & &I TS el # Fafed
Far g

A. TaRIfAS Folr

B. feufas zar

C. Tifys Fall

D. WA sl

Ans. A

Chemical Energy: Energy stored in the
bonds between atoms in molecules. For
example, a leaf uses sunlight to bind
carbon dioxide and water molecules into
a sugar molecule. It stores the solar

energy in the chemical bonds of that
sugar molecule
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66.Te e 9T RO &ef garT fehar
AT FF SIS g 8-

A. AT Foll

B. Rufast s

C. fafeor

D. WA Fil

Ans. A

The principle of work and kinetic energy
(also known as the work-energy
theorem) states that the work done by
the sum of all forces acting on a particle
equals the change in the kinetic energy
of the particle.

67.Th ©eT T M § SR 3T AT -
L= 1.2*102

A. 1.7 *10°

B. 1.4 * 10°®

C. 2.7 *x10°

D.1.7 * 103

Ans. A

L =1.2*10-2

Volume of a cube is =13

= (1.2*10-2 )3

1.7*¥10-6

68.% &7 S.I ATIH FAT §-

A. e

B. S

C. #HieY

D. fhaltarme

Ans. B

Work is defined as a force causing the
movement—or displacement—of an
object. In the case of a constant force,
work is the scalar product of the force
acting on an object and the
displacement caused by that force
The SI unit of work is the joule (J)

69.°ThaT STelell Tohdoh FUIARUT B Teh
3ETET B-

A. TARIfAS Foll T FSHT Foll &
B. T3 Fall &7 FSHT Fall &

C. ZSHIT Foll FT YhIeT Foll &

D. YehI2l FolT &l FSHIT Fall &
Ans. A
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Dry wood stores chemical energy. This
chemical energy is released as the wood
burns, and it is converted into heat,
which is also called thermal energy, and
light energy. As a result of burning, the
wood turns into an entirely new
substance

70.RATH & HRY U AR AT
& famerT e e -

A. AR FaT

B. arfdsr Fam

C. T Far

D. faega el

Ans. A

The splitting of a uranium atom releases
energy. This process is called “nuclear
fission”, since the centre of an atom is
called its nucleus. When a uranium atom
splits it gives off more neutrons, which
can then split more atoms, and so the
energy level rapidly multiplies.

Nuclear fission is the process of splitting
apart nuclei (usually large nuclei). When
large nuclei, such as uranium-235,
fissions, energy is released. So much
energy is released that there is a
measurable decrease in mass, from the
mass-energy equivalence. This means
that some of the mass is converted to
energy

71.57e I fFad HROT gar &-
A. TERfA® Fal

B. @k Far

C. feufast Far

D. aifast Fair

Ans. B

The sun is what makes the water cycle
work. The sun provides what almost
everything on Earth needs to go—
energy, or heat. Heat causes liquid and
frozen water to evaporate into water
vapor gas, which rises high in the sky to
form clouds...clouds that move over the
globe and drop rain and snow

72.91T T ATFARMTAT JaTg cXEBd & sols
1 AfaeT F &ar § Fife gl 7 g &-

P

gradeup

A. sifast Fa

B. Reufasr =

C. ifasr 3k Rufas Far
D. 51 & Hig el

Ans. C

The water in a reservoir behind a
hydropower dam is another example of
potential energy. The stored energy in
the reservoir is converted into kinetic
energy (motion) as the water flows
down a large pipe called a penstock and
spins a turbine.

73.31 5% S Ueh AT a1 & G faudia
& & v A F g &7 &,

A. IS FI TG BT &

B. @ [T $Y 8 &

C. s giar g

D. 54 & HIg =Tgr

Ans. A

Equal forces acting in opposite directions
are called balanced forces. Balanced
forces acting on an object will not
change the object's motion. When you
add equal forces in opposite direction,
the net force is zero.

74.Th ATSHIBIT H €afel Foll HI FUTART
g §

A. Ii3F FaT

B. T@rafas Felr

C. faegd Fair

D. sifast Fair

Ans. C

Microphones are a type of transducer - a
device which converts energy from one
form to another. Microphones convert
acoustical energy (soundwaves) into
electrical energy (the audio signal)
Different types of microphone have
different ways of converting energy but
they all share one thing in common: The
diaphragm

75.8Y @t & 97 7 3T 1: 2§, 3t
HT JoIeT TATA g1 IeThr Tt Fotl &l

3fegTel AT -
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Owp
wkHR R
oN P

D. 318 ¥ HIg =Tgf

Ans. A

Kinetic energy =

1/2mv2

Body a : body b

1/2mv2:1/2mv2

Velocity ratio

1:2

By putting velocity and mass in the
equation

Both have same mass so let mass = 1
=1/2*1*12=1/2*%1%22

=12:22

=1:4

76.57¢r A€ & TEH H TH IEHT GaRT ORI

F Aol e F frar = s a7 gxar 87

A.0
B. 100

C.13 38

D. 397 & &I oAer

Ans. A

Work done= force* displacement
When the man rowing the boat
upstream, he is at rest with respect to
the bank. So , the displacement of the
boat is zero . hence no work is done by
the man

77. 30 G1E @ 3 R-
A. TBCE B 3reTdRe

B. fAedr &r 3dqxar

C. o7+ fFgaor

D. 3WIad T

Ans. C

Mulching. Mulch is a material placed on
the soil surface to maintain moisture,
reduce weed growth, mitigate soil
erosion and improve soil conditions.
Mulching (installing mulches) can help to
improve crop yield and optimise water
use.

78.THATIT AT §-
A. gt 3R ey
B. feFura 3k #sX

e
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C. YU 3R e

D. &1 & HIg 1@l

Ans. A

Smog is a kind of air pollution, originally
named for the mixture of smoke and fog
in the air. Classic smog results from
large amounts of coal burning in an area
and is caused by a mixture of smoke and
sulphur dioxide. In the 1950s a new type
of smog, known as Photochemical Smog

79.8H &1 AT & T g8-qell & 3UET
T g-

A. I3

B. gcIATA

C.dd

D. de€Ts

Ans. A

The beam balance measures the force
exerted by the mass on the beam
balance. The beam balance does not
directly measure the mass. It uses the

fact that the gravitational force on the
object is proportional to its mass.

80.U% OIH & Uelcd ATd Hlel & oIV gH
AT FIAT IaT-

A. gegdAT 3R T

B. gegAT 3R 3MadsT

C. ol 3R 9%d

D. goia 3R 3madad

Ans. B

The molecules of different liquids have
different size and mass. The mass and
size of the molecules in a liquid and how
closely they are packed together
determine the density of the liquiD. Just
like a solid, the density of a liquid equals
the mass of the liquid divided by its
volume; D = m/v.

81.579 T Yerdy I 3 fFar Srar §, ar
3HT HYolcd-

A.FH gIaT &
B. §&dT ¢
C. gHa ®dT &
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D. &1 ¥ I oAgl

Ans. A

If an iron rod is heated, it will get longer
and fatter and its density will decrease.
This happens because the mass of the
rod stays the same, but its volume
increases. The increase in the volume of
matter with increasing temperature is
called expansion.

82.T& Sl 3uANeT Fear &
A. $ifde e

B. IR el

C. A 3R Bemr

D. 578 & HIg ofer

Ans. A

A jeweller uses physical balance because
he needs an accurate measurement of
small items like gold, gems etc;
therefore he uses physical balance
Physical balance is used to measure the
mass of a body. let us now understand
the parts of a physical balance a
physical. Balance or a laboratory balance
consists of a central beam made of brass
or aluminum at. ... line which is used to
set the balance in the horizontal plane is
suspended from the beam support a
pointer.

83.7h3N & Teh Ths HT gcdAA 160 ATH
3R 3¥aT 200 g F.AY &, @shod
qetrfd H olehsl &l Helcd AT ?

A. 0.83mH/gaT H.AY

B. 1.2amA/ET H.#Y

C. 1

D. 38 & &S oTal

Ans. A

Mass of wood =160gm

Volume of wood=200cm3

Density of wood in cgs system
D=m/v

=160/200

=0.8g/cm3

84.41 & Teh Iceh &I T 4 FHT, 5
. 3k 25 d.A § 3R 3 gouAe

1.28 fReNITA §, Ik HT Gelcd AT FX?

e
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A. 2560f%.3m/H#eT
B. 1280 f&.am/#Hre?
C. 540 f.am/#Ae?

D. 378 & HIg 1@l

Ans. A

Mass of metal 1.28kg
Volume of metal =4*5*25cm
=500cm3

=0.0005m3

=d=m/v

=1.28kg/0.0005m3
=2560kg/m3

85.5cTATT & TH.3TS HAHAH T ¢
A. I

B. foraltams

C. #Hiex

D. fAR—mH

Ans. B

The kilogram is the SI base unit of mass
The kilogram is the SI base unit of mass
and is equal to the mass of the
international prototype of the kilogram,
a platinum-iridium standard that is kept
at the International Bureau of Weights
and Measures (BIPM)

86.7hdT T & Telcad I fhdsh ganrm

g ar S B
A. D=m/v
B. D=m*v
C. D=v*eid

D. 347 & &I oAar

Ans. A

Density is a characteristic property of a
substance. The density of a substance is
the relationship between the mass of the
substance and how much space it takes
up (volume)

Density is a characteristic property of a
substance. The density of a substance is
the relationship between the mass of the
substance and how much space it takes
up (volume)

87.919TS &1 ATIS T gl
A. Hex
B. fhadiex
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C. fAehex
D. 517 & @IS el

Ans. A

Metre is the unit for length

The SI system, also called the metric
system, is used around the worlD. There
are seven basic units in the SI system:
the meter (m), the kilogram (kg), the
second (s), the kelvin (K), the ampere
(A), the mole (mol), and the candela
(cd)

88.fora ufr & uRaAToT gIar & 39 Fer Srar
g

A. 3rfeer i

B. &fger wfer

C. T gfeie Ifer

D. 38 A HIg oTal

Ans. A

A quantity which has only magnitude
and no direction is called scalar quantity.
Example: mass

A scalar quantity is a one dimensional
measurement of a quantity, like
temperature, or mass. A vector has
more than one number associated with
it. A simple example is velocity. It has a
magnitude, called speed, as well as a
direction, like North or Southwest or 10
degrees west of North

89.ush yd wieer s -
A. TRl aFq o1 TUT g ST &
B. gUT YeTa =T ST §

C. U 3eI9NT &I Toh TR g
D. 598 & HIg Ter

Ans. C

The vector which has a starting point or
a point of application is called a polar
vector. Velocity maybe regarded as a
polar vector

a polar vector is a vector such as the
radius vector that reverses sign when
the coordinate axes are reverseD. Polar
vectors are the type of vector usually
simply known as "vectors”.

90.f%1 & ¥ =i a1 gfauerd 4 @ad
& AR S AT 8?

e
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A. gdrr Ffeer
B. 3efrr @fger
C. faramsr gfeer

D. fufa afeer

Ans. B

The vectors which represent rotational
effect and act along the axis of rotation
in accordance with right hand screw rule
are called axial vector. Axial vector will
have its direction along its axis of
rotation depending on its anticlockwise
or clockwise rotational effect.

91.Us 315 Afeer &1 aR&A0T FIr 8?2
A. SEHT PS IRATIT AT &

B. 34

C. faa ARt e =7t

D. T+

Ans. D

The magnitude of a unit vector is unity.
It just gives the direction of a vector. A
unit vector has no units or dimensions.

92.fFF < & § fohwerr aRATUT L BYeT &2
A. R g

B. =T @y

C. Ush HieRl & AdiS

D. so1s Tfeer

Ans. B

A zero or null vector is a vector that has
zero magnitude and an arbitrary
direction. The velocity vector of a
stationary object is a zero vector.
93.Th 3MEHT &I TolaAT 3ET8I0T &-

A. @t dr fEerar

B. @feer &r aer

C. Tfeer &1 AR

D. Higer & o=l

Ans. A

While walking, a person presses the
ground with his feet slightly slanted in
the backward direction. The ground
exerts upon him an equal and opposite
reaction. Its horizontal component
enables the person to move forward
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while the vertical component balances
this weight.

94.FHg-TTel I IS AT A & o
T # O Fger 39Ater Rar Srar g7
A. s fafer
B. @R fafer
C. TR fafer

D. Wrad«r ar ufaeafsr fafer

Ans. B

The word sonar stands for sound
navigation and ranging. On a sonar
ultrasonic waves are transmitted
through the ocean. They are reflected by
the submerged rocks and received by
the receiver. By measuring the time
delay of the receipt, the distance can be
determined.

95.9%d! @l Ush GHTA GoIHAT Heled H1 U3
AR, Il Rl AFT &1 Tdg W aofe
250 #gea AT ST, Al gL & g dh &
3T I[ET T 3HAT doled gIM?

A. 125 =g

B. 250 &

C. 0 &gt

D. 125+7gea

Ans. A

Here mg = 250N,

d =R/2

Acceleration due to gravity at depth d =
R/2,

below the earth’s surface will be
gd=g(1-d/R)

=g(1-(R/2)/R)

=g/2

Therefore, new weight = mgd

=mg/2

=250/2=125N

96.3f& qedY &I Aclg & FHT Teh el H

TFhT T YA T el Fall GCiC i)
ST, df 3998 X SHET FAT TG 95T g7
A. TE Tl ¥ gAAT &

B. Ig el aifad & gHaT &

C. 7§ fad war &

e
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D. Ig T Tell STl &

Ans. D

When the kinetic energy of the satellite
is doubled, its orbital velocity increases
V2 times and becomes equal to the
escape velocity. So the satellite will
escape

97.Ts Tisfehel dTeled 70 HieX Bar &
geclid 9Y WX Fefdr g1 I 98 11 @ A
Teh TFRL G HIAT BT, ol 9 HT Fel ol
Fr IoTAT FY

A. 40 #Hex

B. 440 AX

C. 0 #Hiex

D. 11 AiX

Ans. B

Radius of the circular path, r = 70m
Time takes to complete one round, t =
11s

Total length of the path, s = 2nr =
2x22/7%x70 = 440m.

98.gaT$ STgTsl & Whehl a1 Teh & 3are<or
gl

A. &g Ity

B. ¥ali &1 f&Rar

C. gfger &1 g3

D. @feer &1 A

Ans. A

A projectile is a name given to anybody
which once thrown into space with some
initial velocity, moves thereafter under
the influence of gravity alone without
being propelled by an engine or fuel. The
path followed by a projectile is called its
trajectory.

99.U& I A U SARA T ©d & =T T
3R ORmr Sirar § 3R @ & v 3wy dig
Fr Sfas Gar & et Frar §, 3¢ FHT W
awqg—z‘m*r?

A. T& & AT IR T & ST

B. ggell dig qall g T Jorr # ae H
ggeam

C. gadl dig ugell dig T Jolell A dc A
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qﬁ?ﬁo C. afeer &1 Ier

D. T & a#Y wfhed Affiead T @ D. dfger gt

Ans. D Ans. D

Both the balls will reach the ground at When a bird flies, it pushes the air with

the same time but at different places. force in the downward direction with its

The vertical motion is not affected by the wings. In accordance with Newton’s law

horizontal motion. This is called the of motion, the air exerts equal and

principle of physical independence opposite reaction. According to the

100.Us 9&fl & 38T 30T & parallelogram law, the resultant of the
S reaction acts on the birds in the upward

A. afeer direction and helps the bird to fly

B. @feer &1 aoreT upwards.
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